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-55 3 2,253,820 *120% 2,705
- 623 2,271,3202 *120% 2,726
72 S 2,289,140 *120% 2,741
- 1823 2,551,790 *120% 3,063
V== 2,589,850 *120% 3,108
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- XS = 2,657,800 *120% 3,190
6= 2,765,020 x2E *120f% 6,637
CESL s 36,460
123 20,0013 *10A 2= 123 2,401
=2 21, 1643 x2B10A1 2t 123 5,080
4152 21,4743 x2H«10A12H+ 123 5,154
-58 3 21,8372 *10A12++ 123 2,621
- 623 22,1423 x10A1 2t 123 2,658
‘723 22,4533 x10A1 2= 123 2,69
- 1823 25,487 *10A12++ 123 3,059
== 25,8672 x10AI12++ 123 3,105
23S 26,5472 x2H*10A1 2+ 123 6,372
- 62 27,6173 x10A1 2t 123 3,315
ORuPNESS= RS, 16,205
-1s 3 106,6703 10! 1,067
=3 12,8702 =2 » 10 2,258
4SS 114,520 x2&» 10! 2,291
553 116,460 » 10 1,165
- 683 118,000& ~10& 1,181
- 7S E 119, 7503 10! 1,198
B82S 135,930 10! 1,360
== 137,960 » 10 1,380
253 141,580 x2E* 10 2,832
623 147, 2903 10 1,473
201 eer23| 6,500 6,000 500
01 AtR2t2lHI 6,500 6,000 500
Oul=Hl(S%24) 250, 0002 « 13 22 6,500
M HASFESS 265,299 263,339 1,960
M BRA(RIHS) 22N BEEE2RE=s S 265,299 263,339 1,960
OHLLERGS(8Y)
580,793,000 +3.545% 20,590
OLQIEIQALEHERHES(HY)
20,298, 7153 %12.81% 2,601
OnE=gs 22=(8Y)
580,793,000& *1.75% 10,164
O=tlgs RE=3(8d)
580,793,000 4. 5% 26,136
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OEz=(Edg) 200,000,000 200,000
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odz2srd 4,351
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== 2,215,350 *120% 2,659
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o7ra 4,050,500 x10H ~ 12& 486,060
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0832 10, 1623 *4H+35AI 2t 123 17,073
092 9,620 *4H*35A1 2+ 123 16,162
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o BH< Kt 40,0002 »20H + 123 9,600
o JIEIE 20,0002 40" 122 9,600
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